o1 AbLESAN B dppgal

— b= Gy oy &gt Gl gll A1 85139
2019 pedy 3593 P il LISy 2 8
Py BB o)

L 02 5.l Sl I 35l G !

t J oY) (el
f(x)=+3x*-3 . s h LS Bl f A e
]—oo.—l]u[l.+oo[ D A Gy A gt ol gu—1
¢ gt 130 dergy T AN OF =2
Looekid Boegtdd) paudy Sttt e € ol o 1 e Blzas L6 f 1 Ja -3
Lokt Foeitd) paudy Sl e € ylucdl o — 1 e Blaas A T D11 o
A A Ol s —4
i edies (D) 3 +0 st (C;) ool il pudies Y = X3 Aslall 93 (D) oltiend) OF =5
4 stas plasa) lly —o0 Hls8 (C,) el
legedolae Last. =2 9 2 Lagger g Jolae pld by ooull OF =6
(C;) 5 (D) 5 (D) : B gy =7
FOO=T(M) sty Job 8yLa0g 3 k) Lo ) @b g Ll 230 —8

3
V3 < F(X)=< X .o 1<x<\g ol e 4l e =9

g(x):% r WS Lo —[UL oo s Je e g dNipems 10

Bl Jgor gl & T (X) Y G(X) DI dirie drg)

IV g g gall (453

*



S g guasal

) el

g(x)=x>-3x"-1 R Je 00 B juw b

Bl it Jguor coiily 0 A1t gt st 1

310<a <311 tra 1amy Y Jois §(X) = 0astali 00 o 2
R e g(X) 3yt gl 3

f(x)=e"(1-x7). A uS R e wadif dn 32040

() oo Dl 2 c0x04l) 1M f(X) 1orgh & Lot gl w2 NIM F(X) =0 o oy 1

X—>+00

F0)=7.0(X) : 08 x b sas U5 Jor! o0 01 oy .2
Bl Jguor ciilgf A1 s oldl uyst 3
$(2)3 e o 4 (@) =30 01 o 4
0 it i3 it 301 (8] et Ustas oyl 5
f(x)=0 : dslall ngg-f(l) ! .6
[0:1] gt Jeh(x)=e™ (X2 +x +1) 3 @Al N D g oysl @
h(x)>1 s[0;1] Yt u X S o) e i il
[0 gt e gt 2{01] gt deCp il 5 (1) bt oy ol gt oyt @
3 et

K() = F(InX) : b us J0.4+00] Jubt o 200 k D1l on
Bl Jguor gl ¢ K(X) @I At drgl kA1) ByLe LS 05

Rl e T e L . Bl il S ad alll

2 (2 dadua





